Physik IV - Losungen - Serie 5

18. Marz 2011






L) e die L/Mww ol [eilela A 8/%% Gorsnd
Sostivund el homnd o8 e meols 3 howshahlinu ool
J&A»Zwln/:w /m[uvémz. [ VLM itol ﬂ(a,; /u./u %AW?V"WA/Q(

céuvm-/w(lm :
s T&MM /V\KAO(UVI WM

)"f( mif 507 Vo lnsozin el huil
/ Ao De»él)lm I/J\hu'oaw‘




2. K }M;

o
=2 (fw) =
@ Mo pdmel =

N L 1 > 7
! &%“ 2‘0\ ( Ek f)}-'\, 2

-

2 N ) N
Ml AP S~ 1€ 10 p(‘ri‘uliw Ao o A,

—
S
=
<
|
—_—
——
&
R

Electrons as lighter particles are easier to deflect by the outer shell electrons of the atoms.

Therefore they need larger energies ta scatter in accordance withtHe Rutherford.formula. 1L .

fC) Protons are similar to alpha particle and should be described well by Rutherford formula. For very
: Iarge energies electron, proton and alpha-particles will have enough energy to approach the
?lel In this case the size of the nuclei is not negligible and the scattering cross-section will

deviate from the Rutherfod formula.

Neutrons are neutral and will not deflect by Coulomb interaction -> not Rutherford scattering
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Electrons as lighter particles are easier to deflect by the outer shell electrons of the atoms. Therefore they need larger energies to scatter in accordance with the Rutherford formula. 
Protons are similar to alpha particle and should be described well by Rutherford formula. For very large energies electron, proton and alpha-particles will have enough energy to approach the nuclei. In this case the size of the nuclei is not negligible and the scattering cross-section will deviate from the Rutherfod formula.
Neutrons are neutral and will not deflect by Coulomb interaction -> not Rutherford scattering
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